, Total number of pages—8
32T BMST -

2022

BUSINESS MATHEMATICS
~ AND STATISTICS |

Full Marks : 100

Pass Marks : 30
" Time : Three__hdurs

' The figures in the margm indicate full marks
for the questions.

Q. No. 1. . N 1 mark each 1x8 = 8

Q. No.2 | 2 marks eaclt §2%5 =
o Q. Ndé._ 3-7. =~ _ ‘3.mark$ eich © 3x5=15
| Q. Nos. 8 -14 : " 5 marks each | 5x7 = ‘35
Q. NlIS.. 15-18 _ : 8 marks each , 8x4 = 52
Total =100,
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1. “Answer the following questions-as directed :

(@)

®

()

(d)

(e)

| _(g)

()

Is the set A={x|x<x} a null set ?
A={x|x<x} @& Re w2 A

i [°% 10':0-, find x.

s 2 . 4 ’ : 4
Sx 10

trf»"r 5 4 ﬁcﬁrawtxl

What is the difference between: permutatlon and combmatlon ? -

ﬁr{mm@’f"vﬁaﬁsxﬁw

The marks scored’ by 7 students are —
7 & QARER TEONE TA —

40, 42, 38, 45, 50, 52, S

Find Median. '

st [Refw |

Write True or Falsev :

ug (o Sam ot g

AM <G.M..<HM. A
Wm‘iﬂ <€3"CWNT*U <WWW}I

' What is the S.D. of two values 8 and 4 ?

8m4awﬁm%iﬂ?

What do you mean by combmatlon ?

- R e & qmie

Fill in the blank :
o s R

AN(BUC)=(aNB) ——~ (Aﬂc)

32T BMST (2]

1x8=8

2. Answer the following questiohs in brief : . ZXS¥10, |
(@) Di_st}ithish"betweenv {0}, ¢ and {4}
{0}, ¢ W= {g}-7 oy Row r1
(b) " Find ‘n, if *"C: "Cy=44:3,
| ﬁcfawwﬁz”ca "Cp=44:3

(c) In what time will Rs.2100 amount to Rs. 2835 at 10% p.a. S.I.?
I Fwre IR 10% I/ Fow 2100 TR 9t 2835 Tt 732

(d) Using the property of determinant, prove that

0O 35
-3 0 2|=0.
-5 -2 0

- Rtz 'ﬂﬂ/ﬁmﬂﬁﬁ aﬁmw czrl

0 35
-3 .0 2(=01
-5 -2 0

 (e) Ment10n two advantages and two dlsadvantages of A. M
G T gﬁmﬁmm zﬁwaﬁm%mwwu

3. The difference in simple 1nterest on Rs.1450 at 5% p.a. and on

"« Rs.1250 at the same rate for the same time. is' Rs.135. Find the

time. 3

%R 5% Wiﬁiﬁ Rs. 1450 WWWWWWW@ Rs. 1250 I
aaaq—wnﬁﬁsmsmawﬁcﬁwn |

4. Find ‘n and r, if —

‘n A r 3'&1?@‘@@1‘,‘4@*
"P.=1680, "C, =70. o . g
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If @)
U={23,5,7,11,13},
A={5,7, ié},
B={3,7,11,13},
show' that (e @)
(AUB)° =A°NB°

3
It ) 5
7 6 =3
A= . e
’_8'0 —5 ’
B=
16 -1 2}’
find (R <)
SA-3B=? )
- ~ OR/ wwar

Flnd > and ‘y’, if
X W 4y 4 W e, T

g

Calculate mean deviation from mean from the glven data :

woTe Al U EEe WK o e Roew el 3 ¢ ) o 3

6, 9, 12,15, 18

. A man 'deposits Rs.1200 in a bank at the end of each
p.a. C.I. What would be his deposit after 15 years year @ 5%
(Given (1:05)15 = 2:0789)

| @wwm@%mwmwmmmmooww,

A 15 TR oS (0d1 TN W AW 70 <ﬁmmu 05)15 = 2/0789)
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A certain sum of money at a certain rate 'cor_npounded ar_mually
amount to Rs.8820 in 2 years and Rs.9261 in 3 years. Find the
rate of interest and the principal. S

R e < 7S 2R b oo 2 T 8820 TH W% 3 THT© 9261

Bl 0ol | R T O A e 1

~ 10.

11.

Draw the graph of:(any‘one). | : : _5
oo = ¢ (R @B) o
() x+2y-2020 ' . -
3x+y-12<0
(i) 3y-2x<6
x+y>S
x+2y>4.
y<4

, 9 . : |
In the expansmn (xz '—%) , the term free from x is 5376. Find the

"valueofa , - : : . 5

12.

32T BMST

(x ———) ﬁw— xawmi‘assml a—aaﬂﬁcfﬂaﬂn

In a meetmg, after everyone had shaken hands with everyone else,

it was found that 105 handshakes were exchanged. How many

persons were present at the meeting ? ' . 5

G4 TS, WWWWWWWHWE AL 105?;1-«::#4
&g TS :{hﬂiﬁm e 2
" OR [ &4l

~ A box contains 6 whlte, 4 red and 7 green balls. In how many ways
" can you draw — v - N 5

(j 4 white and 3 red
Gi). 3 balls of the same colour ?

g5t 2 6 B, mmmﬁrmﬁmmvmlﬁmw:ﬁwgﬁwﬁm~

i) 4 B 30 == 3 Bt 36!
i) 3T GRIA
' (5] - L Contd.



15. (@) The A.M. and H.M. of two numbers

<

- AUBNC)=(auB)n(ayc).

13, I (3 F()= 2%+ 7x+12,
 find fla)

[ F(A) 39 Refa =1
when (Gfeat)

1 2 1
A=|0 1 -1

18 -1 1] : . 5

OR / 33t

Solve using Cramer’s Rule :

PR FRAIR ST 3 2 s

2x—‘3y—z=-_3 ' . . : . '
X+2y+z=4 ' :

14. If @)
L A={1,2,3,4}

B={2,4,6,8}.
C={3, 4, 5,6 '

prove that (21 31 (¥)

.

S
OR /- &34t .
E; a (;I;ks{sio'f'SQ students, 24 students have taken Adv. Maths, 16
hve,h eh Adv. Maths but not Geography. Find thé no. of studénts
:BT o have talr{en'both Adv: Maths and Geogtaphy. :
caf;T; S0 & QE-REN Wer® 24 &R THae g A 16 H Trsifs
Ce10R % SeaeT ot iR Tt o S HEAIR > Gl DG
= o S gt 10 F-RER Ry
are ,IO and 64 respectively.

Find the numbers and their G.M. 4

01 DI ARG i A% TIE TG T 10 W 64 1 501 T a1

e eries Wy e
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16.

17.

18.

(b) Find the median of the following data.: .. 4
wee Tl wE Sl e = | R
Class : . 101-200 201-300 301-400 401-500 501-600 601-700

. Frequency : 8 10~ 15 6 3 2

‘JRQRS! ¢ ‘

Calculate standard deviation and coefficient of variation from the

following data :

woTe At SR wial S R5e e RpaeR welic fef < o
Class (@®): 0-6 6-12 12-18. 1824 2430 30-36
Frequency (JRRSI) 12 24 38 52 34 19 ‘

4+4=8

(@) A bag contains 10 white, 6 red, 4 black and 7 blue balls..5
balls are drawn randomly. What is the probability that 2 of

" them are red and 1 is black ? = - ' 4
451 @°1® 10 B 39N, 6 BY @, 4 OF TN W 7 B Tewt I Wer | SIwRAy

5 Bt 71 TPRFSIE IR Ta| 2 B 99 W 1 B FA T (I TSRSl

(b) What is the probability that a leap year selected at randoin

_will contain 53 Sundays ? ‘ 4
 fEreiE (IR @Bt WR]ER 53 B (163 (IR TSRSl R e
S OR/w@® |
State the mathematical definition of probability. What are its
limitations ? | o . | 4
. Fsiier afifes et i) e sERePRR & e
(@ What are the -_differe_nt types of correlation ? o 2
- ioTes Rifen aviong & B | :
(b) Calculate Karl Pearson’s correlation coefficient from the
- - following data : . : 6

| oore fml U SRl Pl PRt FEITEE ol fefy e
x:. 2 6 8 10 14 16 20
'y: 1 3 4 5 7 8 10

X
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